| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

I o
N <
{0 x
— O
©
Jo s
—
s
—
[ [V
—
i (=}
—
=100
-1©
=
=N
s - A s
o
= 3 ]
sxoen aredidnp
o
>
x
[5]
IS T T T T T
= . . . . .
. : : : H
5
ST oney syoel) axyey
o
>
B4
[=)
I .
P .
o 5
I 5
2 o
(=] .
2 D
7
b © 8
° H
i
S
s
syoel) ani oney syoel ani

syoen

I o
N 4
0 ¢ F
— O H
©
© = £
— H
<
—
o .
— H
(=] H ¢
— . o
co n
- n
© . .
@ n
2 H
< %5 .
& n
o o :
53
@ i
2 5 <
o o o
z
oney L] syoen




	Contents
	Page 1


